Prove that:
a cosé +sinftanf = sect
¢ cosect —sinf =cosfcotl

b cot @ + tan @ = cosec 8 secd
d (1 -cosx)(l +secx)= sin x tan x
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Solve, for values of @ in the interval 0 < 8 < 360°, the following equations.
Give your answers to 3 significant figures where necessary.

a secf=v2 b cosecf =-3 ¢ Scotf=-2 d cosecf=2

e 3sec?d—-4=0 f Scosf=3cotl g cot?¢ —8tanf=0 h 2sin @ = cosec
Solve, for values of @ in the interval —-180° = # = 180°, the following equations:

a cosecl =1 b secf=-3 ¢ cotf =3.45

d 2cosec?d — 3 cosecd =0 e secfd=2cosd f 3cotd=2sind

g cosec20=4 h 2cot?0 —cotd—-5=0

Solve the following equations for values of @ in the interval 0 < 6 < 2x. Give your answers in

terms of m.
a secO0=-1 b cotfd=—-/3
2/3
c cosec-;-0=T d se09=\/§tan0(0;é§ 9753_"‘)
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Exercise @

Give answers to 3 significant fig

1 Simplify each of the following expressions.

ures where necessary.

a 1+ tan? -;-0 b (secd - 1)(secd + 1) ¢ tan?f(cosec?f - )
d (sec?f - 1)cotd e (cosec?f — cot?0) f 2-tan?6 +sectf
t
tan 6 sec 6 i 2 . cosect cotd |
8 T ianzo h (1-sin26)(1 + tan*6) NS ;
[

j (sectd—2sec?d tan?d + tan* @) Kk 4 cosec?20 + 4 cosec? 26 cot* 26

; k : ‘
@ 2 Given that coseC X = 5osac x* where k > 1, find, in terms of k, possible values of cotx.

3 Given that cot 8 = /3, and that 90° < f < 180°, find the exact values of:

a sind b cosf

4 Given that tan 0 =3, and that 180° < § < 270°, find the exact values of:
a sect b cosf ¢ sinf

. 8| 24 8, ’.
5 Given that cos 6 = 5, and that @ is a reflex angle, find the exact values of:
a tanf b cosecf

¢ tan®6f(cosec’d - 1)
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4 Given that tan @ = %, and that 180° < 0 < 270°, find the exact values of:
a secl b cosd ¢ sinf
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3 Given that cot § = —/3, and that 90° < 8 < 180°, find the exact values of:
a sinf b cosf
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